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NEW QUESTION 1
How many separate VLANs must each HyperFlex node be configured with running ESXi?

A. 1
B. 2
C. 3
D. 4

Answer: D

Explanation: 

NEW QUESTION 2
Which three features do Managed Deployments provide? (Choose three.)

A. Great tor managing large deployments, scalability, and oversight of the UCS servers.
B. Consistent deployment by replicating working configurations from development labs to the production deployment
C. High availability of the management system and connectivity when using 2 Cisco Fabric Interconnects
D. Individual configuration of each redundant fabric or global configuration.
E. Increased operating overhead, raising Operating Expenses (OpEx)
F. Decentralized yet complex management of an entire UCS domain.

Answer: ACD

Explanation: 

NEW QUESTION 3
When building a HyperFlex cluster which two recommendations should be followed? (Choose two.)

A. Use HX 220s for compute nodes and HX 240s for converged nodes
B. Use B-Series servers to improve converged node scale.
C. Use the same CPU model but memory configuration can be different.
D. Use the same server configuration for the cluster.
E. Use the same server model for the cluster.

Answer: DE

NEW QUESTION 4
Which two components are automatically configured from the information provided to the HyperFlex installer? (Choose two )
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A. the network
B. operating system deployment preparation
C. controller VM configuration
D. application dependencies
E. server firmware policy

Answer: AC

NEW QUESTION 5
Refer to the exhibit.

Which VIC model supports two wire connectivity to each Fabric Interconnect?

A. VIC 1227
B. VIC 1557
C. VIC 1387
D. VIC 1457

Answer: C

Explanation: 

NEW QUESTION 6
Which three features for NVMe transfer protocol are valid? (Choose three.)

A. Uses PCIe interface
B. Streamlined commands for fewer CPU instructions
C. More and deeper queues
D. Requires 10 controller
E. Increases memory speed for more lOPs
F. Improves SAS and SATA speed

Answer: ABC
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Explanation: 

NEW QUESTION 7
Which two steps should be performed before installing HyperFlex? (Choose two.)

A. Determine and download recommended hypervisor
B. Determine and download recommended VCenter required
C. Download service profile templates
D. Determine and download recommended UCS firmware required.
E. Determine and download virtual machine OS' required.

Answer: AD

NEW QUESTION 8
The process of optimizing information is tightly tied to the writing process as it is performed inline as the writing process is being performed The process of data
optimization is performed with which two processes? (Choose two)

A. The primary CVM compresses the data, writes it to its cache drive and mirrors it
B. ACK is sent to the CVM that the write is about to be initiated
C. On write, the local lOVisor sends the write to the primary CVM for that block
D. On read/Writ
E. the distributed VAAI sends the write to the primary CVM for that block
F. The secondary CVM compresses the data, reads it from its cache drive and mirrors it

Answer: AC

Explanation: 
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NEW QUESTION 9
Which three advantages of using the M5 generation of HyperFlex servers over the M4 generation are valid? (Choose three )

A. Support for Cisco VICs
B. Multiple GPUs
C. M.2 SATA drive support for faster disk I/O
D. DDR3 memory
E. Microsoft Hyper-V support
F. NVMe support

Answer: CEF

Explanation: 

NEW QUESTION 10
How many DIMMs are supported per memory channel in the Cisco UCS M5 server?

A. 2
B. 1
C. 8
D. 4

Answer: A

Explanation: 

Guaranteed success with Our exam guides visit - https://www.certshared.com



Certshared now are offering 100% pass ensure 700-905 dumps!
https://www.certshared.com/exam/700-905/ (50 Q&As)

NEW QUESTION 10
Which statement about Standalone Cisco UCS Server Deployments is valid?

A. They require Cisco Fabric Interconnects to operate, which reduces the Operating Expenses (OpEx) associated with the deployment
B. They do not require Cisco Fabric Interconnects to operate, which reduces the Operating Expenses (OpEx) associated with the deployment
C. They do not require Cisco Fabric Interconnects to operate, which reduces the Capital Expenses (CapEx) associated with the deployment
D. They require Cisco Fabric Interconnects to operate, which reduces the Capital Expenses (CapEx) associated with the deployment

Answer: C

Explanation: 

NEW QUESTION 12
Which version of HXDP was the first to support multiple VICs on a single server?

A. HXDP 3.5.1
B. HXDP 3.0
C. HXDP 4.0
D. HXDP 3.5

Answer: A

Explanation: 

NEW QUESTION 17
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Which three additional management tools are included in HXDP to configure HyperFlex clusters? (Choose three.)

A. UCS Manager
B. Storage CLI
C. Data Center Network Manager
D. Cisco IMC 13
E. REST API
F. HyperFlex Connect

Answer: BEF

Explanation: 

NEW QUESTION 18
How can the maximum 10 performance be achieved?

A. Use the HX 220 with all flash drives
B. Use the HX 240 with all flash drives
C. Use the HX 220 with all SAS drives
D. Use the HX 240 with all SAS drives

Answer: B

NEW QUESTION 19
A Controller Virtual Machine (CVM) is an Ubuntu Linux VM that lives outside the converged data platform on the housekeeping drive since it is involved in creating
the convergence data platform Which two features tor CVMs are valid? (Choose two.)

A. creates hooks tor services related to third-party abstraction applications
B. does not perform caching, deduplication: and compression of data
C. an Ubuntu based VM running in the control space of each individual server, having linear access to the server's VMs and networking controls
D. needs network access to ESX
E. other CVMs, and management network
F. is installed automatically by the HyperFlex installer, configured through the installer

Answer: DE

Explanation: 

NEW QUESTION 23
Drag the server type from the left onto the maximum number of capacity drives on the right.
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A. Mastered
B. Not Mastered

Answer: A

Explanation: 
HX220c-M5SX_6-8 HX240c-M5SX_6-23 HX240c-M5L_6-12

NEW QUESTION 27
Which three configurations for read caching in Cisco HyperFlex are valid? (Choose three.)

A. Battery-Initiated Read-back (default): Only read data and most commonly used data are deposited in the Level 4 read-back cache
B. Write-back (default): Only write information and most commonly used information are deposited in the cache
C. Write-through (install option for VDI): Only most commonly used data is cached: optimizing VDI performance
D. No caching (SSD): With all-flash nodes; because there is little difference in read speeds between SSDs
E. Level 4 cached (SSD): With semi-flash nodes; there is a large difference in read speeds between SSDs
F. Write-first (default for VDI): Infrequently used data is cached: freeing system resources for VDI performance

Answer: BCD

Explanation: 
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NEW QUESTION 29
How many vCPUs does the HXDP controller VM require?

A. 8
B. 6
C. 2
D. 4

Answer: A

Explanation: 

NEW QUESTION 32
Which two processes does failure on a node initiate? (Choose two.)

A. Distributed pooled data is migrated off nodes to master data store.
B. Affected node is marked as unhealthy and placed into standby mode
C. A call-home process is initiated and the failure is reported to TAC
D. The VMs on the failed node are moved to another node by vSphere high availability
E. The system is marked unhealthy but remains operational.

Answer: DE

Explanation: 
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NEW QUESTION 35
......
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